P

T V.

. T
.
-

KM321 1TWHO

|
|
a
|
L (038 " 4
T ' (om0). L _j“ Y
.

/_

\ (o2 2| - .
|:070! P lowu f 1 i =
“ L il ' lo.zs | "V\x
: ‘ 3 §:“} ; ~ Rt &
2, ! 'Kn v
(os9) o 10701

G'

2y

-

’\t

r,.

e
070
2
LA
&,
R
s B N
"3'-“' P =
st N
g ey A\ o
i “ el R
‘ 5 Toar) =
| —
‘ 1079‘
O, { «
ugoy ' 1
- I |l KMEZIIWH _
0.0 { 1 e M et o

-
"\022¢ J

7

Part Number

| 001 |SKA7036

Front Cover KM3211WHQ |




002

003

004
006
007

008

009
010
012
016
022
023
025
026
027
038

039

040
050
070

071

072

073

074

730
731

AAPLO15

AAPLO17

DECKO008
EDMLO01
EDLO0S

EDMAO003

EDLLO002
EDMF001
DHNLOO03
DHNAOQO7
EJXKO004
CRUKO002
EJXA001
BWCHO003
7355009
EADO11

EJXKO007

BUBKO004

DMBJ010

EJXJ021
EJSA021

Cover Packing Top or
Bottom

Cover Packing Left or
Right

Lamp Viewing Window
External Flue packing
External Flue cover plate

External Flue packing cover
plate

Exhaust Circular packing
Exhaust Box 009, 012 also replace
Exhaust Box Packing
Pump fixing plate
BOSCH Caution Label
Plug Insulation sheet
Case KM3211WH

Air TemperatureThermistor

022 also replace

Cord Grommet
Shield Plate

Connection Diagram Label
BOSCH

Internal Lamp Viewing
Window

Earth Connection

Cross recessed round-head
collar N-tapping screw 4x8

Cross recessed truss type3
EVERTIGHT tapping
screw with PW 4x12

Cross recessed round-head
collar N-tapping screw
4x10

Cross recessed round-head
collar N-tapping screw
4x12

Cross recessed truss type3
TIGHT tapping screw 4x10

Transformer
Transformer Cover



& BOSCH
Invented for life

Combution unit and gas route KM3211WH. KM3211WHQ

(o70)  (104) ‘ [_,: 27 | (o72)

Part Number

070 Cross recessed round-head
collar N-tapping screw 4x8




071

072

073

074

100
101
102
103
104
105
109
110
110
111
112
114
115
116
117
118
119
120
121
122
123
124
125
126
127
128
129

SBP7302
SBA7506
DLKLO12
SBA7504
SBA7505
DLKC009
DHNLO002
SAR7812
SAR7574
SAQ7346
SAQ7406
SAD6433
SADG6372
CRPL002
CRPL004
CRPL003
CXBF030
DHNEO15
SAB1512
SAQ7708
8590109
CRUE016
DLTC001
CRPC052
DEKJ014
AGVJ007
SAC1229

Cross recessed truss type3
EVERTIGHT tapping
screw with PW 4x12

Cross recessed round-head
collar N-tapping screw
4x10

Cross recessed round-head
collar N-tapping screw
4x12

Cross recessed truss type3
TIGHT tapping screw 4x10

Burner - Combustion Unit 116, 117, 118 also replace
Flame Rod

Ignition Plug gasket
Ignition Plug

Burner Sensor

Plug Fixing Plate

Burner Gasket

Manifold Set LPG
Manifold Set NG
Solenoid S16

Solenoid S24 RHS

O Ring for LHS Solenoid
O Ring for RHS Solenoid
Top Manifold Seal

Side Manifold Seal
Bottom Manifold Seal
Fan With Motor
Manifold Pipe

O Ring for Manifold Pipe
Gas Valve

for LPG 121 also replace
for NG 121 also replace

Redundancy Valve

121 also replace

O Ring for Gas Valve Inlet

Gas Inlet Connection Point 123 also replace
Burner Mounting Plate
Main Damper

Wiring Loom

Ignition Unit 129 also replace
High Voltage Ignition Cord



131

132

141
141

170

171

172

173

174

175

EACCO11

DTJAO015

CRUCO045
CRUCO046

Ignition Unit Mounting
Plate Top

Ignition Unit Mounting
Plate Side

Fan Cover plate LPG
Fan Cover plate NG

Cross recessed round-head
type3 EVERTIGHT
tapping screw 5x16

Cross recessed heaxagon
head machine screw M4x8

Cross recessed round-head
machine screw M4x8

Cross recessed round-head
N-tapping screw 4x8

Cross recessed round-head
collar type3 tapping screw
4x12

Cross recessed round-head
SPAKmachine screw with
guiude M4x12

Attached to Burner

Attached to Top Plate

For LPG
For NG

© BOSCH

Invented for life



Hot-water feed route2 KM3211WHQ

)
P 2] _‘ (ass)
H-“ﬂ | ﬁ ~  (a28) m)&z LA
| ﬁ"n ey s,/ o
(soav'- & d \

I ’

o
\—'07\ '427 #,.e‘u.‘g,q |43

(408) (5} '
{ i

{aaa) X0 (¢
: "q]('aas.,l o

4 o » _‘v__ o
& 4l A ?'“' r
(‘M' |- }(4@2} 20 g
0.507. IAN“ r\ 2

| = 33 i : ;

| 47a| : w02 |

| e DN Cwges, oA T \

J " -V { N

| 408} (ﬁﬂﬂ E o
) o - -

) N
by (#14)
uos) T =

{a71 &y = ‘ 6f sg’, b (172) :“;“\'/\“2'

o . @ 515 “alf
1{%’ 412] : : .509‘, »
,{‘L’J ’nn.!. ; <

; X m) \I
:'.“72) ,lki "“2

Q tidajl v A \‘i‘
% = (174} o

/l:11|
(458) fif—’ - b |~ (%13
G I | |s0@ )} A
(2 ‘_ﬁ, 508 )07\
’ = /
5, =
= 3 : 5 ‘vl‘&
L e
. (428} — (483)

é’-‘*mas) l‘ﬁ“ Res

.L "’"3’ u73| MZM - B
\|71" ‘483' Y
< 180rﬁ I 0
o—4ssa '° .
43.» \\. \» |m,’ -~ ~

( é lnuu 3
“56” . wr(‘css —2)

) =2 (178) =
Qﬁ’ - N NS .
'f ~ i @ r‘\(“ ‘ ISOQJV vi"(.' X “,. 3
.4- B. 8 4851 - _a_s_a_x 174)

Part Number

16 |DHNAOQ07 Pump fixing plate for KM3211WHQ
Cross recessed round-head
73 collar N-tapping screw

4x12




172

173

174

400

401
402

405

406
407
408

409

410

411

412
413

414

417

418

420

421
422

423

424

425

SBN7205

SBAT7398
CXDHO003

DJPDO12

DHNAO14
SKAT7037
EHKHO01

DJPHO002

DZTDO011

BWCDO098

1323709
ALSD088

3059502

DZTDO010

DJWHO003

7573308

DHNDO010
EACDO003

BWCD096

DUVD019

BWCDO097

Cross recessed round-head
machine screw M4x8

Cross recessed round-head
N-tapping screw 4x8

Cross recessed round-head
collar type3 tapping screw
4x12

Heat Exchanger

Thermal Fuse Wrap Around

Thermal Fuse Fastener

Recirculation Inlet
Coupling

Thermal Fuse Cover
Anti Frost Heater
Anti Frost Heater Bracket

Overtemperature Sensor
RHS

Motorised Water Valve Hot
Water

Motorised Valve
Thermistor Hot Water

O ring Water Inlet
Thermistor

Thermistor Holding Plate
O Ring Hot Water Outlet
Pipe

Motorised Water Valve Q
Function

Anti Frost Heater water
inlet outlet and mixing
valve

O Ring Cold Water Outlet
Pipe

Hot Water Outlet Pipe
Cold Mixing Water Pipe

Hot Water Outlet
Thermistor

Water Flow Sensor Cold
Water Inlet

Water Inlet Thermistor

012,109,401,402,428,434
also replace

420,434 also replace

Heat Exchanger

434 also replace
412 also replace

WHQ Requires 6

WHQ Requires 6

434 also replace

WHQ Requires 4

WHQ Requires 3

With Insulation

412 also replace

428, 434 replace

412 also replace



427

428
429
431
433
434

435

437

437

438
438
439
440

441

442
443

444

445
446
447
448

449

450
451

452

453

454

455

BWCDO090

3359808
DHNDO018
EACDO001
SADG6537
3223302

AXGDO089

EACDO006

EBADO003

EGBDO032
DTJD005
BRQLO08
DTJDO06

CRUDO003

SAD6633
EACDO007

EACDO013

BWCDO035
SAA2811
SAD6635
EADDO010

CRUDO005

SAA6433
DMMDO002

HGHD101

1326503

6340202

SAAG483

Water Outlet Magnetic
Sensor

O ring for KM3211

T Piece for return water
Cold Water Inlet Pipe
Quick Fastener

O Ring Cold water inlet

Thermistor Plug
Water Inlet Fitting

Water Inlet Fitting

Water Filter

Water Filter

O Ring for Water Inlet
Water Filter Cap

Drain Plug Hot Water
Outlet

Drain Plug O Ring
Mixing Water Coupling

Mixing Water Body

Mixing Water Cylinder
Blow Off Valve

Safety Valve O Ring
Return Line Fitting

Return Line Fitting Filter
Cover

O Ring Return Line Fitting
Filter Cover

Return Line Filter

Hot Water Outlet
Connection

Mixing Water Cylinder O
Ring top

Quick Fastener for Cold
Water Mixer Pipe

Mixing Water Cylinder O
Ring bottom

WHQ Requires 8

For KM3211WH
WHQ Requires 6

WHQ Requires 3 412 also
replace

For KM3211WH 412 also
replace

KM3211WHQ only 412
also replace

For KM3211WH
KM3211WHQ

439 also replace

WHQ Requires 2 442 also
replace

WHQ Requires 2
434,455 also replace

420,434,453,455 also
replace

453,455 also replace
447 also replace

420,477 also replace

414,442 also replace



456
458
459

460
462

463

464
468
470

471
472
475

476

477
480
481
482
483
484
485

506

507

508

509

510

511

6340300
DUVDO017
ALSDO058

DANAO012
DUVDO018

BWCDO093

BWCD092
BVUHO002
DZTJ008

CZLD041
DZTJ009
DHNDO026

DSCDO028

1326708
EADDO001
EADDO06
EADDO008
DJWHO004
AJBL002
DJWH002

Quick Fastener for Cold

Water Mixer inlet WHQ Requires 7
Inlet Water Flow Sensor

Pump Anti Vibration
Rubber

Pump Mounting Plate
Pump Water Flow Sensor

Magnetic Sensor Water
Inlet

Magnetic Sensor Return
Water

Anti Frost Thermostat LHS

Wiring Loom Mixing
Water Valve

Water Valve wiring cover
Wiring Loom Water Valve
Recirculation Pump 428 also replace

Shut off valve Recirculation
inlet

Shut Off Valve O ring
Cold Water Inlet Pipe
Water Return Pipe

420 also replace

Pump Outlet Pipe
Anti Frost Heater
Anti Frost Heater Clip
Anti Frost Heater

Cross recessed round-head
machine screw M4X8

WHQ Requires 2
WHQ Requires 4

Cross recessed truss P
TIGHT screw 4X10

Cross recessed round-head
P TIGHT screw 4X14

Cross and Straight recessed
round head collar type3 S
TIGHT tapping screw 4X8

Cross and Straight recessed
type3 S TIGHT tapping
screw 4X8

Cross recessed round-head
P TIGHT screw 4X14

428,434 also replace

428,434 also replace



Cross recessed round-head
512 type 3 EVERTIGHT
tapping screw 4X8

e N "*\? - :J |
Or% (701) \726) by 0"’ 7
e | S ‘ | - a—’:/

g JIE

O—‘Z/‘J
j% I _
K321 1WH I I KMI21YWHG
) [ - — —
| X
‘ N
~ N
| <
| .5 o~ ()
| S " (1s) & (110) i
i o8k ) | FmA_ Fri .
e UGS (IS N | e e
| kg | (17 =R e i

122 G- P
[ el a

KMA211WH } | i .
(070 I P l § 4 g :
e 2 Sy | [\ S
o WL Ui/ N P e N
MTUNGS > (r21). @

Part Number | Description | Comments __|




070

071

072

073

074

700
701
701

703

705
710
711
713
714
715

717
718

721

722

730
731
732
733

734
735

736

SHAT706
EJXJ031
EJXJ011

CRPJO14

DEKAO014
DZTAO006
EGHJ031
EJXJ017
7287909
7224001

CCPJ028

CRUJ040

EJXJ021
EJSA021
DEMJO009
EJSJ016

EJSA016
EJSJO015

DTJJ031

Cross recessed round-head
collar N-tapping screw 4x8

Cross recessed truss type3
EVERTIGHT tapping
screw with PW 4x12

Cross recessed round-head
collar N-tapping screw
4x10

Cross recessed round-head
collar N-tapping screw
4x12

Cross recessed truss type3

TIGHT tapping screw 4x10
PCB Controller Board

Wiring Harness For KM3211WH
Wiring Harness For KM3211WHQ

Lamp Cable including
Lamp

PCB Cover

ELCB Mounting Plate
ELCB

Power Cable 240V
Nylon cable clamp
Nylon cable clamp

Remote Control Connection
Lead

Airflow connector

Cross recessed bind
machine screw M3.5X6

Cross recessed round head
N-tapping screw 4X12

Transformer
Transformer Cover
Earth Lead

PCB Power Lead

Transformer Mounting
Plate

System selector connector |For KM3211WHQ

Heating Level Sensor
Connector

For KM3211WHQ






